4 VCE & PDF https://lwww.geekcert.com/4a0-104.html
' 2024 Latest geekcert 4A0-104 PDF and VCE dumps Download
2 GeekCert.com

AA0-10495A8

Alcatel-Lucent Services Architecture

Pass Alcatel-Lucent 4A0-104 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/4a0-104.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

4A0-104 PDF Dumps | 4A0-104 Study Guide | 4A0-104 Braindumps 1/3


https://www.geekcert.com/4a0-104.html
https://www.geekcert.com/4a0-104.html
https://www.geekcert.com/4a0-104.html

VCE & PDF https://lwww.geekcert.com/4a0-104.html
2024 Latest geekcert 4A0-104 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which of the following can be used to detect the smallest path MTU in an RSVP signaled MPLS tunnel?
A. ADSPEC

B. CSPF

C. Service ping

D. LSP trace

Correct Answer: A

QUESTION 2

Which of the following statements are FALSE regarding the VPN-IPv4 address family? (Choose two.)

A. When a PE router receives an IPv4 prefix from its local CE it creates a VPN-IPv4 prefix.

B. The route distinguisher (RD) is appended to the IPv4 prefix to form a 16 byte VPN-IPv4 prefix.

C. VPN-IPv4 allows BGP to distinguish multiple routes with the same prefixes originated from distinct customers
D. VPN-IPv4 addresses are only present within the service provider network.

E. In VPRN, data traffic is carried in VPN-IPv4 packets.

Correct Answer: BC

QUESTION 3

Which of the following best describes a MAC FDB used by a VPLS service?

A. A VPLS service does not use a MAC FDB.

B. A single MAC FDB is shared by all VPLS services on a PE.

C. A separate MAC FDB is used on the PE for each VPLS service.

D. Each VPLS service uses a separate MAC FDBs for unicast and multicast traffic.

Correct Answer: C

QUESTION 4
On a dot1Q encapsulated port, frames with a VLAN tag of 0 and untagged frames are forwarded to the null SAP

A. TRUE
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B. FALSE

Correct Answer: A

QUESTION 5

An E-pipe is configured with a service MTU of 5000. What value will be derived for the VC-MTU?
A. 4078

B. 4986

C. 5014

D. 5022

Correct Answer: B
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